EE 653 HW6, Spring Semester 2005, Dr. McCalley
1. Consider the following 4 bus system with components and buses numbered as indicated and corresponding data provided in the accompanying table. The bus 3 load is 60 MVA and the bus 4 load is 40 MVA. Use max flow to compute the total system LOLP to within an accuracy of (2%.
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	Component
	Rating (MVA)
	FOR

	Number
	Description
	
	

	1
	Generator at bus 1
	100
	0.15

	2
	Generator at bus 2
	50
	0.10

	3
	Transmission line from bus1 to bus 3
	110
	0.10

	4
	Transmission line from bus 1 to bus 2
	50
	0.05

	5
	Transmission line from bus 2 to bus 4
	100
	0.15

	6
	Transmission line from bus 3 to bus 4
	50
	0.05
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